Global Tech
Industrial Supply

Welded Steel Framework GT Aluminium Profile System




TABLE OF CONTENT

ALUMINIUM
PROFILE

PAGE: 1-4

STANDARD
FASTENING JOINT

PAGE: 5

BUTTON HEAD
SCREW

PAGE: 5

UNIVERAL
FASTENING JOINT

PAGE: 6

MAGNETIC LOCK

PAGE: 17

TOOL HANGER

PAGE: 17

FLOOR BRACKET

PAGE: 17

MULTI BLOCK

PAGE: 18

INTERIOR
BRACKET

END CAP

PAGE: 7

PAGE: 19

GUSSET ELEMENT

INDUSTRIAL
HANDLE

PAGE: 8-10

PAGE: 19

3 WAY
CONNECTOR

EXTENSION
CONNECTOR

PAGE: 11

PAGE: 20

SCREW
HAMMER HEAD

SWIVEL JOINT

PAGE: 11

PAGE: 21

SLOT NUT

LEVELLING
FOOT

PAGE: 12

PAGE: 22

HALF ROUND NUT

&,
PAGE: 13
RHOMBUS NUT
& »8
& & PAGE: 14
HINGE

PAGE: 15-16



MD CHEAH

MD CHEAH

 

MD CHEAH
STANDARD FASTENING JOINT

MD CHEAH

MD CHEAH
UNIVERAL FASTENING JOINT

MD CHEAH

MD CHEAH
SCREW 
HAMMER HEAD 

MD CHEAH

MD CHEAH
INDUSTRIAL HANDLE

MD CHEAH

MD CHEAH
EXTENSION CONNECTOR

MD CHEAH

MD CHEAH
LEVELLING FOOT

MD CHEAH

MD CHEAH


ALUMINIUM PROFILE

20
e Fesr
| I \ o
]_*250' &
8 ’ %

GT06AP2020

11
b 6.20
R2.50

—]

GT06AP2020CR

25

_j 6.80 I:—

R2

A0
40

X

w@m N LT

440

GT06AP2040
30
te—16.50—
$3.30 ——]820
il
s ©6.80
1 1
SJ 5 2P
GT08AP3030CR
GT08AP3030
ORDER NO SLOT NO MATERIAL WEIGHT LENGTH
(mm) (kg/m) (mm)
GT06AP2020 Aluminium 6063-T5 0.465 6100
GT06AP2020CR 6 Aluminium 6063-T5 0.448 5000
GT06AP2040 6 Aluminium 6063-T5 0.808 6100
GT06AP2525 6 Aluminium 6063-T5 0.825 5080
GT08AP3030 8 Aluminium 6063-T5 0.938 6100
GT08AP3030CR 8 Aluminium 6063-T5 0.90 5000



MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH
GT06AP2020

MD CHEAH
GT06AP2020

MD CHEAH
GT06AP2020CR

MD CHEAH
GT06AP2020CR

MD CHEAH
GT06AP2040

MD CHEAH
GT06AP2525

MD CHEAH
GT08AP3030

MD CHEAH
GT08AP3030CR

MD CHEAH
GT06AP2040

MD CHEAH
GT06AP2525

MD CHEAH
GT08AP3030

MD CHEAH
GT08AP3030CR

MD CHEAH


ALUMINIUM PROFILE

40
R4.50 20.50 (e
p i -
R2.50 16.50 1= .50 LW )

_\ rr—-l——8.20

0

0

30
2.20

[}
[}
(=)

GTO08AP3060

5.20

240050-—

i—al =
RS
SN/

2\ 2

GT08AP4040CR

40
12.30 R3.49

ij‘Q[' /' o
<o o rJ
i § @

J

& o
i I:L]DJ,

GT08AP4040S GT08AP4040S2
(mm) (kg/m) (mm)
GT08AP3060 Aluminium 6063-T5 1.832 6100
GT08AP4040 8 Aluminium 6063-T5 1.885 6100
GT08AP4040LD 8 Aluminium 6063-T5 1.355 6100
GTO08AP4040CR 8 Aluminium 6063-T5 0.95 5000
GT08AP4040S 8 Aluminium 6063-T5 1.48 5000
GT08AP4040S2 8 Aluminium 6063-T5 1.51 5000

2



MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH
GT08AP3060

MD CHEAH
GT08AP3060

MD CHEAH
GT08AP4040

MD CHEAH
GT08AP4040

MD CHEAH
GT08AP4040LD

MD CHEAH
GT08AP4040LD

MD CHEAH
GT08AP4040CR

MD CHEAH
GT08AP4040CR

MD CHEAH
GT08AP4040S

MD CHEAH
GT08AP4040S

MD CHEAH
GT08AP4040S2

MD CHEAH
GT08AP4040S2

MD CHEAH


ALUMINIUM PROFILE

40

312300 g
f SO !
G il
i 5] B
L rl_rDDJ
GT08AP4040S20
. B
45
Q\ 21.50 ]-0—20
i i
| |j J/—[_-]
i
o 5
AR
R5.10
GT10AP4545
R42
R5.25
FELT)
| | } @
—{_ 2250 | ~22.50 L - |
GT10AP4545CR GT10AP4590
ORDER NO SLOT NO MATERIAL WEIGHT LENGTH
(mm) (kg/m) (mm)
GT08AP4040S20 Aluminium 6063-T5 1.355 6100
GT08AP4080 8 Aluminium 6063-T5 3.770 6100
GT10AP4545 10 Aluminium 6063-T5 2.360 6100
GT10AP4545HD 10 Aluminium 6063-T5 1.950 6100
GT10AP4545CR 10 Aluminium 6063-T5 1.750 5000
GT10AP4590 10 Aluminium 6063-T5 4,110 6100



MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH
GT08AP4040S20

MD CHEAH

MD CHEAH
GT08AP4040S20

MD CHEAH
GT08AP4080

MD CHEAH
GT08AP4080

MD CHEAH
GT10AP4545

MD CHEAH
GT10AP4545

MD CHEAH
GT10AP4545HD

MD CHEAH
GT10AP4545HD

MD CHEAH
GT10AP4545CR

MD CHEAH
GT10AP4545CR

MD CHEAH
GT10AP4590

MD CHEAH
GT10AP4590

MD CHEAH


ALUMINIUM PROFILE

R2 - 21.50
R8 p~—~t—110.20

[A LG

R5.10 |

IME
i

GT08AP8080 GT10AP9090
ORDER NO SLOT NO MATERIAL WEIGHT LENGTH

(mm) (kg/m) (mm)

GT10AP6060 Aluminium 6063-T5 4.080 5000

GTO8AP6060 8 Aluminium 6063-T5 2.604 5000

GT08AP8080 8 Aluminium 6063-T5 5.360 6100

GT10AP9090 10 Aluminium 6063-T5 6.320 6100



MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH
GT10AP6060

MD CHEAH

MD CHEAH
GT10AP6060

MD CHEAH
GT08AP6060

MD CHEAH
GT08AP6060

MD CHEAH
GT08AP8080

MD CHEAH
GT08AP8080

MD CHEAH
GT10AP9090

MD CHEAH
GT10AP9090

MD CHEAH


STANDARD FASTERNER SET

30.60 39.60
{ 23 *‘i 32 Fﬂ.STENER
S . B B 590 .
l | \ 'é
2

.

| | 2 :
| | AP \(I S
@8 \_d8 4 N
)@\ s Al
3 /@
I |
}
GTO08SFJ8/30 GTO08SFJ8
Material: Zinc Plated Steel Material: Zinc Plated Steel

Used together with button head Used together with button head

Screw M8x20 for Slot 8 Series Screw M8x30 for Slot 8 Series
3030, 3060 & 6060 Profile 4040, 4080 & 8080 Profiles

BUTTON HEAD SCREW

]
$9.20 — = - j

30

GT10BHS1230

For simple, right angle and power
lock connection.

Used for Slot 10 Series 4545, 4590,
6060 & 9090 Profiles



MD CHEAH

MD CHEAH
GT08SFJ8/30

MD CHEAH

MD CHEAH
GT08SFJ8

MD CHEAH

MD CHEAH
Screw M8x20 for Slot 8 Series 3030, 3060 & 6060 Profile

MD CHEAH
Screw M8x30 for Slot 8 Series 4040, 4080 & 8080 Profiles

MD CHEAH

MD CHEAH
GT10BHS1230

MD CHEAH

MD CHEAH
Used for Slot 10 Series 4545, 4590, 6060 & 9090 Profiles

MD CHEAH


UNIVERSAL JOINT SET

Suitable for profiles need to be moved

frequently.
8 L
D I
4 R emore e s cmore o L gk
BACK [BACK)
+ -— @ 105
é Dy i
8 D
(o B RN
+ Tt
GTO6UFJ10 GTO08UFJ15 GTO08UFJ20
Material: Casted GD-Zn Material: Casted GD-Zn Material: Casted GD-Zn
Used with cap screw M4x16 Used with cap screw M4 x Used with cap screw M8 x
and half round nut M4 25 and half round nut M6 30 and half round nut M8

~ UNNMERSAL FASTENER

33

Mg C/BORE

b 10—l [BACK)

f—— @20

3.10 fra—
_..]

15.70—y

GT10UFJ20

Material: Casted GD-Zn ~~ UNWMERSAL STEP DRILL

Used with cap screw M8x30
and half round nut M8


MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH
GT06UFJ10

MD CHEAH
GT08UFJ15

MD CHEAH
GT08UFJ20

MD CHEAH
Used with cap screw M4x16 and half round nut M4 

MD CHEAH
Used with cap screw M4 x 25 and half round nut M6

MD CHEAH
Used with cap screw M8 x 30 and half round nut M8

MD CHEAH

MD CHEAH
GT10UFJ20

MD CHEAH

MD CHEAH
Used with cap screw M8x30 and half round nut M8 

MD CHEAH


INTERIOR BRACKET

[
37
L-—l? I
—] P50 pw— I 7.50
e proa-fp—740 |

2§y
—
F
31
3l
1

I — _*
(-

[==>
-

A = -
1.._35_.4_{
GTO06IB4 GTO06IB6
Material: Zinc Plated Carbon Steel Material: Zinc Plated Carbon Steel
Used for Slot 6 Series 2020 or 2040 profile Used for slot 8 series 3030, 3060, 6060,
in right angle connection with M4 set 4040, 4080 & 8080 profile in right angle
screw connection with M6 set screw
35
e 24
WS
870
i, | fo
5 N 5 ﬁ
| 4 =3¢ %
3

GT10IB8

Material: Zinc Plated Carbon Steel

Used for slot 10 series 4545, 4590, 6060 &
9090 profile in right angle connection with M8
set screw



MD CHEAH

MD CHEAH

MD CHEAH
GT06IB4

MD CHEAH
GT06IB6

MD CHEAH

MD CHEAH

MD CHEAH
Used for Slot 6 Series 2020 or 2040 profile in right angle connection with M4 set screw

MD CHEAH
Used for slot 8 series 3030, 3060, 6060, 4040, 4080 & 8080 profile in right angle connection with M6 set screw

MD CHEAH

MD CHEAH
GT10IB8

MD CHEAH

MD CHEAH

MD CHEAH
Used for slot 10 series 4545, 4590, 6060 & 9090 profile in right angle connection with M8 set screw


GUSSET ELEMENT

. D0 =
@

—J

GT06GE2020

la— 90 =

Material: Die Casted Aluminium

Used for slot 6 series 2020 or 2040 profile in
right angle connection. Used with button head
screw M5x10 and half round nut M5

30

o

|
L
07
]

GTO08GE3030
Material: Die Casted Aluminium

Used for slot 8 series 3030 or 3060 & 6060
profile in right angle connection. Used with

button head screw M6x12 and half round nut
M6

o

— 08—
(@)

-

[

R

GT06GE2830

Material: Die Casted Aluminium

Used for slot 6 series 2020 or 2040 profile in
right angle connection. Used with button head
screw M5x10 and half round nut M5

18.30)

O =

80

O O

il

—8.30

GT08GE3060

Material: Die Casted Aluminium

Used for slot 8 series 3030 or 3060 & 6060
profile in right angle connection. Used with
button head screw M6x12 and half round nut
M6



MD CHEAH

MD CHEAH

MD CHEAH
GT06GE2020

MD CHEAH
GT06GE2830

MD CHEAH

MD CHEAH

MD CHEAH
Used for slot 6 series 2020 or 2040 profile in right angle connection. Used with button head screw M5x10 and half round nut M5

MD CHEAH
Used for slot 6 series 2020 or 2040 profile in right angle connection. Used with button head screw M5x10 and half round nut M5

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH

MD CHEAH
GT08GE3030

MD CHEAH
GT08GE3060

MD CHEAH
Used for slot 8 series 3030 or 3060 & 6060 profile in right angle connection. Used with button head screw M6x12 and half round nut M6

MD CHEAH
Used for slot 8 series 3030 or 3060 & 6060 profile in right angle connection. Used with button head screw M6x12 and half round nut M6


GUSSET ELEMENT

38

g
‘I

o
[_‘F— é_] — H
AT 1)
|| [ ih
jinsh! |
HE. H |

19.25

I
N
T

.30

o — |
T
b &b

0 C

GT06GE4040 GTO08GE4080

Material: Die Casted Aluminium Material: Die Casted Aluminium

Used for slot 8 Series 4040, 4080 or 4080
profile in right angle connection. Used with
cap screw M8x16 and half round nut M8

Used for slot 8 Series 4040, 4080 or 4080
profile in right angle connection. Used with
cap screw M8x16 and half round nut M8

T

(12

(— 42
[

42

~1E
1
—~ =
N (-
b -

GT10GE4342

17— 12 =~
C

Material: Die Casted Aluminium

Used for slot 10 Series 4545, 4590,
6060 or 9090 profiles in right angle
connection. Used with cap screw
M8x20 and half round nut M8

7 50[— 1= |

bl

Lily
P10.30

- =10.30

GT10GE4288

Material: Die Casted Aluminium

Used for slot 10 Series 4545, 4590,
6060 or 9090 profiles in right angle
connection. Used with cap screw
M8x20 and half round nut M8


MD CHEAH

MD CHEAH

MD CHEAH
GT06GE4040

MD CHEAH
GT08GE4080

MD CHEAH
Used for slot 8 Series 4040, 4080 or 4080 profile in right angle connection. Used with cap screw M8x16 and half round nut M8

MD CHEAH
Used for slot 8 Series 4040, 4080 or 4080 profile in right angle connection. Used with cap screw M8x16 and half round nut M8

MD CHEAH


MD CHEAH
GT10GE4342

MD CHEAH
GT10GE4288

MD CHEAH


MD CHEAH
Used for slot 10 Series 4545, 4590, 6060 or 9090 profiles in right angle connection. Used with cap screw M8x20 and half round nut M8

MD CHEAH
Used for slot 10 Series 4545, 4590, 6060 or 9090 profiles in right angle connection. Used with cap screw M8x20 and half round nut M8

MD CHEAH



GUSSET ELEMENT

E& = 40
2: ”‘—— ’ © |r
3 é;) l\] U h # g O
Ein e il :
= i
LZ:@:) C] o0 R i
=l B
) () i .
=z A H ~ ~ |
‘ LL30—WLJ ! ! + é H :8.30
]
GTO08GE6060 GT08GES8080
Material: Die Casted Aluminium Material: Die Casted Aluminium

Used for slot 8 series 3060 or 6060 profile in Used for slot 8 series 4060 or 8080 profile in
right angle connection. Used with cap screw right angle connection. Used with cap screw
M6x12 and half round nut M6 M6x12 and half round nut M6

20

f~—"238

GT08GE4050D45

Material: Die Casted Aluminium

For 45 degree connection. Used with button
head screw M8x30 for profile 4040 or 4080

10


MD CHEAH


MD CHEAH
GT08GE6060

MD CHEAH
GT08GE8080

MD CHEAH


MD CHEAH
Used for slot 8 series 3060 or 6060 profile in right angle connection. Used with cap screw M6x12 and half round nut M6

MD CHEAH
Used for slot 8 series 4060 or 8080 profile in right angle connection. Used with cap screw M6x12 and half round nut M6

MD CHEAH


MD CHEAH
GT08GE4050D45

MD CHEAH


MD CHEAH
For 45 degree connection. Used with button head screw M8x30 for profile 4040 or 4080

MD CHEAH



3 WAY CONNECTOR

20 —=
M | N

35

$a.50

35

M armn
LJ oJu

- 20—y

GT08HHS0820

Material: Zinc Plated Steel

Slot 8 treaded cutting screw with M8 flange
nut size 13. Used for slot 8 series 4040, 4080
or 8080 profile

GT08CJ3838SQ

Material: Die Casted Aluminium

Used for 4040 profile

GT10HHS0820S

Material: Zinc Plated Steel

Slot 8 treaded cutting screw with M8 flange
nut size 13. Used for slot 8 series 4040, 4080
or 8080 profile



MD CHEAH


MD CHEAH
GT08CJ3838SQ

MD CHEAH


MD CHEAH
Used for 4040 profile

MD CHEAH


MD CHEAH
GT08HHS0820

MD CHEAH
GT10HHS0820S

MD CHEAH


MD CHEAH
Slot 8 treaded cutting screw with M8 flange nut size 13. Used for slot 8 series 4040, 4080 or 8080 profile

MD CHEAH
Slot 8 treaded cutting screw with M8 flange nut size 13. Used for slot 8 series 4040, 4080 or 8080 profile

MD CHEAH



SLOT NUT

ME/IME/ME
SN0 DL

GTO08SNS/30
GTO08SNG6/30
GTO8SN8/30

Material: Zinc Plated Steel

Used for slot 8 series 3030,
3060 or 6060 profile

Mé6/M8
MO/ MO

20

19.50

2.80 .—J —

e 9 .50 -~

-,

GTO8SN5
GTO08SN6
GTO8SN8

Material: Zinc Plated Steel

Used for slot 8 series 4040,
4080 or 8080 profile

M6E/M8
e S
[ }
©
{
19.50
-—10—'1
L
13
©
: 1

GT10SN5
GT10SN6
GT10SN8

Material: Zinc Plated Steel

Used for slot 10 series 4545,
4590 or 6060, 9090 profile

Inserted into the profile slot to connect one profile to another.

12


MD CHEAH


MD CHEAH
GT08SNS/30
GT08SN6/30
GT08SN8/30

MD CHEAH
GT08SN5
GT08SN6
GT08SN8

MD CHEAH
GT10SN5
GT10SN6
GT10SN8

MD CHEAH


MD CHEAH
Used for slot 8 series 3030, 3060 or 6060 profile

MD CHEAH
Used for slot 8 series 4040, 4080 or 8080 profile

MD CHEAH
Used for slot 10 series 4545, 4590 or 6060, 9090 profile

MD CHEAH



HALF ROUND NUT

T M3/MA/M5/ME/M8
C‘) < M3/M4/M5 *\o M4/ME/ME/ME N
ol S N
© V o | A * Hs(/
v 1 Ik
* 8 —--1 11.50 l—-— + fem 13 ] o
& 8 29
5 o <t 4—" 770"‘* "“—'—|B : M~
11 4]7 1 1
/| I\j i /1y
GTO8HRN3
GT08HRN4/30 GTO08HRN4
glgg:g:i GTO8HRN3/30 GTOSHRNS5
GTO6HRN5 GT08HRNG/30 GTO08HRNG
GT08HRNS8/30 GTO08HRNS

Material: Zinc Plated Steel Material: Zinc Plated Steel Material: Zinc Plated Steel

Used for slot 6 series 2020 or Used for slot 8 series 3030 or Used for slot 8 series 4040 or

2040 profile 3060 profile 4080 or 8080 profile
M4/M5/Mé6/M8 &
Ig -
o * H?(/ i Mé a’\i
N Ve sl
= ([ L
* et 1430w OO % o
9.50 —m 3
T K
Y
» O 0
GT10HRN4 @
GT10HRN5S @
GT10HRNG GT06HRN6/25 A ,
GT10HRNS Gg &D

Material: Zinc Plated Steel Material: Zinc Plated Steel

Universally usable mounting
element fits into the profile
groove at any desired point by
means of spring thrust piece

Use for slot 10 series 4545,

4590, 6060 or 9090 profile Use for 2525 profile

13


MD CHEAH


MD CHEAH
GT06HRN3
GT06HRN4
GT06HRN5

MD CHEAH
GT08HRN4/30
GT08HRN3/30
GT08HRN6/30
GT08HRN8/30

MD CHEAH
GT08HRN3
GT08HRN4
GT08HRN5
GT08HRN6
GT08HRN8

MD CHEAH


MD CHEAH
Used for slot 6 series 2020 or 2040 profile

MD CHEAH
Used for slot 8 series 3030 or 3060 profile

MD CHEAH
Used for slot 8 series 4040 or 4080 or 8080 profile

MD CHEAH


MD CHEAH
GT10HRN4
GT10HRN5
GT10HRN6
GT10HRN8

MD CHEAH
GT06HRN6/25

MD CHEAH


MD CHEAH
Use for slot 10 series 4545, 4590, 6060 or 9090 profile

MD CHEAH
Use for 2525 profile

MD CHEAH



RHOMBUS NUT

M3/M4/ME

~t
L1
m |/
GTO6RN3
GTO6RN4
GTO6RN5

Material: Zinc Plated Steel

Used slot 6 series 2020 or 2040
profile

| 550 —m
~ 580 |=-=—

GT10RN4
GT10RNS
GT10RN6
GT10RNS

Material: Zinc Plated Steel

Used for Slot 10 series 4545,
4590, 6060 or 9090 profile

M4/M5/ME

|t — &

|t 5 -]

[l 750 e
| =

GTO8RN4/30

GTO8RN5/30

GTO8RNG6/30

Material: Zinc Plated Steel Material: Zinc Plated Steel
Used for slot 8 series 3030, Used for slot 8 series 8080
3060 or 6060 profile profile

A8

(>

14


MD CHEAH


MD CHEAH
GT06RN3
GT06RN4
GT06RN5

MD CHEAH
GT08RN4/30
GT08RN5/30
GT08RN6/30

MD CHEAH


MD CHEAH
Used slot 6 series 2020 or 2040 profile

MD CHEAH
Used for slot 8 series 3030, 3060 or 6060 profile

MD CHEAH
Used for slot 8 series 8080 profile

MD CHEAH


MD CHEAH
GT10RN4
GT10RN5
GT10RN6
GT10RN8

MD CHEAH


MD CHEAH
Used for Slot 10 series 4545, 4590, 6060 or 9090 profile

MD CHEAH



~

%8
Ho1®
4 C/SUNK |
: ;O'

= o T
Pt

GT06PH4

Material: Polyamide

Used for slot 6 series 2020 or 2040 profile.
Use with c¢/sunk screw M4x8 and rhombus nut
M4

&0

f—— 30—

Ome
©

GTO08PH6/30

Material: Polyamide

Use for slot 8 Series 3030, 3060 or 6060
profile. Use with c/sunk screw M6x16 and
rhombus nut M6

O ©
O @

4
fea—— 25—y

Mg C/SUNK:

GTO08PH6/3040

Material: Polyamide

Use for 3030 profile together with 4040. Use
with ¢/sunk screw M6x16 and rhombus nut M6

20—
OO
RCOR®

M8 C/SUNK J

L‘ﬁ))ﬂ

GT06ZH4
Material: Zinc (Black)

Used for slot 6 series 2020 or 2040 profile.
Use with c¢/sunk screw M4x8 and rhombus nut
M4

=
©
@

M6 C/SUNK

O

GTO08ZH6/30

Material: Zinc(Black)

Use for slot 8 Series 3030, 3060 or 6060
profile. Use with ¢/sunk screw M6x16 and
rhombus nut M6

[‘_K—T[

GT08ZH6/3040

Material: Zinc(Black)

Use for 3030 profile together with 4040. Use
with ¢/sunk screw M6x16 and rhombus nut M6

15


MD CHEAH


MD CHEAH
GT06PH4

MD CHEAH
GT06ZH4

MD CHEAH


MD CHEAH
Used for slot 6 series 2020 or 2040 profile. Use with c/sunk screw M4x8 and rhombus nut M4

MD CHEAH
Used for slot 6 series 2020 or 2040 profile. Use with c/sunk screw M4x8 and rhombus nut M4

MD CHEAH


MD CHEAH
GT08PH6/30

MD CHEAH
GT08ZH6/30

MD CHEAH


MD CHEAH
Use for slot 8 Series 3030, 3060 or 6060 profile. Use with c/sunk screw M6x16 and rhombus nut M6

MD CHEAH
Use for slot 8 Series 3030, 3060 or 6060 profile. Use with c/sunk screw M6x16 and rhombus nut M6

MD CHEAH


MD CHEAH
GT08PH6/3040

MD CHEAH
GT08ZH6/3040

MD CHEAH


MD CHEAH
Use for 3030 profile together with 4040. Use with c/sunk screw M6x16 and rhombus nut M6

MD CHEAH
Use for 3030 profile together with 4040. Use with c/sunk screw M6x16 and rhombus nut M6

MD CHEAH



HINGE

3%

OO
oH®

i
6 C/SUNK

ko ! ; O}
t =l Wil |
-

GT08PH6

Material: Polyamide

Use for slot 8 Series 4040, 4080 or
8080 profile. Use with c/sunk screw
M6x16 and rhombus nut M6

%) ©

© M@
16 Cf SUNK
t l ?O\

| A Il
t

50
30—

f

GT10PH6

Material: Polyamide

Use for slot 10 series 4545, 4590 or 9090
profile. Use with c/sunk screw M6x18 and
rhombus nut M6.

80 -
—= 15 |+—30 —= 15 [ g
7
' D)
98 (Y é
y
\
40 ©8.40
i
-
o [ ] L]
GT0810UHS8

Material: Zinc

Use for all series profiles

8%

O HHO

Slml®

W6 CFSUNK f
L) EO— e
1 ? C A |
GT08ZH6

Material: Zinc(Black)

Slot 8 Series 4040, 4080 or 8080
profile. Use with c/sunk screw
M6x16 and rhombus nut M6

L)

 ——

I
L@ |

W16 CfSUNK

o
3

2. O—
L
GT10ZH6

Material: Zinc(Black)

Use for slot 10 series 4545, 4590 or 9090
profile. Use with c/sunk screw M6x18 and
rhombus nut M6.

16


MD CHEAH


MD CHEAH
GT08PH6

MD CHEAH
GT08ZH6

MD CHEAH


MD CHEAH
Slot 8 Series 4040, 4080 or 8080 profile. Use with c/sunk screw M6x16 and rhombus nut M6

MD CHEAH
Use for slot 8 Series 4040, 4080 or 8080 profile. Use with c/sunk screw M6x16 and rhombus nut M6

MD CHEAH


MD CHEAH
GT10PH6

MD CHEAH
GT10ZH6

MD CHEAH


MD CHEAH
Use for slot 10 series 4545, 4590 or 9090 profile. Use with c/sunk screw M6x18 and rhombus nut M6.

MD CHEAH
Use for slot 10 series 4545, 4590 or 9090 profile. Use with c/sunk screw M6x18 and rhombus nut M6.

MD CHEAH


MD CHEAH
GT0810UH8

MD CHEAH


MD CHEAH
Use for all series profiles

MD CHEAH



MAGNETIC LOCK

1.50
;18 2.50 *-1 r— "‘ R7.75

&l
s30m b 850 ke

GT0810ML6

20.50 »=

e
>
|
>

f-—— 08—

Material: Polyamide & Magnetic

ft— D) — i

:

Plastic case with M5x6 head. Use to lock
PVC/Polycarbonate door

/U

Material: Sliding part: ABS
Hook: Steel Zinc Plate

TOOL HANGER

85

GT0810TS

Use in 3030, 3060, 4040, 4080, 4545, 4590,
6060 & 9090 profiles

FLOOR BRACKET

4]
T

dii; g
2 R TYlEs

=
GI‘} @8 30
&

20

GT0810FB8

Material: Die Casted Aluminium

Use to securely fixes aluminium profiles to
the floor

20

180
I:—100.50 20

1



MD CHEAH


MD CHEAH
GT0810ML6

MD CHEAH


MD CHEAH
GT0810TS

MD CHEAH


MD CHEAH
Use in 3030, 3060, 4040, 4080, 4545, 4590, 6060 & 9090 profiles

MD CHEAH


MD CHEAH
GT0810FB8


MULTI BLOCK

i
=~

Nl

GT06MB4

Material: Polyamide

Use for slot 6 series 2020 or 2040 profile

{ 18 ~—— 20—~
VM6 T
3
- t
Q o
T 3
}
8
GT08MB6

Material: Polyamide

Use for slot 8 series 4040, 4080 or 8080
profile

+ 20 e 7
= ‘ {
SR I V| B =
s _lj ¥ 9
1
=N
GTO08MB6/30

Material: Polyamide

Use for slot 8 series 3030 or 6060 profile

{ ' M6 28—
Q
- {
e
s
GT10MB6

Material: Polyamide

Use for slot 10 series 4545, 4590 or 6060 or
9090 profile

18


MD CHEAH


MD CHEAH
GT06MB4

MD CHEAH
GT08MB6/30

MD CHEAH


MD CHEAH
Use for slot 6 series 2020 or 2040 profile

MD CHEAH
Use for slot 8 series 3030 or 6060 profile

MD CHEAH


MD CHEAH
GT08MB6

MD CHEAH
GT10MB6

MD CHEAH


MD CHEAH
Use for slot 8 series 4040, 4080 or 8080 profile

MD CHEAH
Use for slot 10 series 4545, 4590 or 6060 or 9090 profile

MD CHEAH



END CAP

GTO06EC2020
GTO06EC2020CR
GT06EC2040
GTO08EC3030
GTO08EC3030CR
GTO08EC3060
GTO08EC4040
GTO08EC4040CR
GTO08EC4080
GT10EC4545
GT10EC4545CR
GT10EC4590
GT10EC6060
GTO08EC6060
GTO08EC8080
GT10EC9090

e ] Gemi

GT0608PIH6

Material: Polyamide

Use for all profile

GT0810PIH8

Material: Polyamide

Use for all profile

- Y —

40
—— 15

laeH-@9

19


MD CHEAH


MD CHEAH
GT06EC2020
GT06EC2020CR
GT06EC2040
GT08EC3030
GT08EC3030CR
GT08EC3060
GT08EC4040
GT08EC4040CR
GT08EC4080
GT10EC4545
GT10EC4545CR
GT10EC4590
GT10EC6060
GT08EC6060
GT08EC8080
GT10EC9090


MD CHEAH


MD CHEAH
GT0608PIH6

MD CHEAH


MD CHEAH
GT0810PIH8

MD CHEAH



%

EXTENSION CONNECTOR

100 -
70
&0 -

40—-—

O fr=—
Text ‘@‘
v MS

GTO6ECS
Material: Zinc Plated Steel

[HH

Use for 6 series 2020 or 2040

= - 110 —— - gt]ﬂ
o fo & e Eﬂ
N

GTO08EC®6/ 3030
Material: Zinc Plated Steel

Use for slot 8 series 3030, 3060 or

6060
— 120 180
Z.50
P M6 ?-1 EJO
D hre - <D ® o
L
GTO8SEC6
Material: Zinc Plated Steel
Use for slot 8 series 4040,
4080 or 8080
- 180 : -
- 140
20 —1 70 /ﬂ T 15 osgo
1 L 1 Ly
{w} iw} (4 } {w} ht o
Lt

GT10EC8
Material: Zinc Plated Steel

Use for slot 10 series 4545,
4590, 6060 or 9090 20


MD CHEAH


MD CHEAH


MD CHEAH
EXTENSION CONNECTOR

MD CHEAH


MD CHEAH


MD CHEAH
GT06EC5

MD CHEAH
Use for 6 series 2020 or 2040

MD CHEAH


MD CHEAH


MD CHEAH
GT08EC6/ 3030

MD CHEAH
Use for slot 8 series 3030, 3060 or 6060

MD CHEAH


MD CHEAH
GT08EC6

MD CHEAH


MD CHEAH
Use for slot 8 series 4040, 4080 or 8080

MD CHEAH


MD CHEAH
GT10EC8

MD CHEAH


MD CHEAH
Use for slot 10 series 4545, 4590, 6060 or 9090

MD CHEAH



SWIVEL JOINT

30 $85.40

GT08SJ8/30 GT08SJ8/30H GT08SJ8 GT08SJ8H

GT10SJ8 GT10SJ8H

Material: Die Casted Aluminium

21


MD CHEAH


MD CHEAH


MD CHEAH


MD CHEAH
GT08SJ8/30

MD CHEAH
GT08SJ8/30H

MD CHEAH
GT08SJ8

MD CHEAH
GT08SJ8H

MD CHEAH
GT10SJ8

MD CHEAH
GT10SJ8H

MD CHEAH



LEVELLING FOOT

TR R i

30

U SWIVEL TYPE

GTO8SLFSR4008
GTO8LFSR5010 M10 100 50
GT10LFSR8012 M12 100 80

Material: Polyamide Foot Pad c/w
Zinc Plated Steel Thread & Nut

RIGID

GTLF54x8x70

GTLF54x10x110 M10 110 54
GTLF54x12x110 M12 110 54
GTLF78x12x165 M12 165 78
GTLF78x16x165 M16 165 78

22


MD CHEAH


MD CHEAH
LEVELLING FOOT

MD CHEAH


MD CHEAH
GT08LFSR4008

MD CHEAH
GT08LFSR5010

MD CHEAH
GT10LFSR8012

MD CHEAH


MD CHEAH
RIGID

MD CHEAH


MD CHEAH
GTLF54x8x70

MD CHEAH
GTLF54x10x110

MD CHEAH
GTLF54x12x110

MD CHEAH
GTLF78x12x165

MD CHEAH
GTLF78x16x165

MD CHEAH



Global Tech Industrial Supply (001496606-D)

www.globaltech.com.my

Office Address :

No 61, Jalan SP 3/1, Saujana Puchong, 47100
Selangor, Malaysia.
H/P : +6 012-208 4022 Fax : +6 03-8080 3880
Email : chwong@globaltech.com.my


http://www.globaltech.com.my
http://www.globaltech.com.my

